

Wiesław A. Dudek, Sung Min Hong, Young Bae Jun

FUZZY SET THEORY APPLIED TO INCLINE ALGEBRAS

Abstract. The fuzzification of k -ideals (also r -ideals) of inclines is considered, and then we prove the notion of fuzzy ideal and fuzzy k -ideal coincide, and we investigate some properties on fuzzy r -ideals. Using level subsets of an incline with respect to a fuzzy subset A of inclines, we construct the fuzzy r -ideal containing A .

1. Introduction

In the 1800's mathematicians discovered that propositional logic could be represented by a new structure called *Boolean algebra* in which $0+0=0$, $1+0=0+1=1$ but $1+1=1$, where 1 is true and 0 is false. This representation can be extended from propositions like p and $(q$ or $r)$ to the more intricate logic of binary relations by taking matrices over the Boolean algebra. In the 1960's this was extended to a kind of multivalued logic called *fuzzy sets*. Boolean algebra and the theory of fuzzy sets are two examples of a general structure called *incline*, which is a type of ordered algebraic structure introduced by Cao and studied in detail by Cao, Kim and Roush [2] in their book, *Incline Algebra and Applications*. Inclines are a generalization of a Boolean algebra or fuzzy algebra consisting of a semiring satisfying additive idempotence and the incline axiom $xy+x=x$, $xy+y=y$. The ideals in a ring or semigroup form an incline, as do the topologizing filters in a ring. Inclines can be used to represent automata and other mathematical systems, in optimization theory, to study inequalities for nonnegative matrices and matrices of polynomials [5]. Incline theory is based on *semiring theory* and *lattice theory*. Inclines and fuzzy theory in inclines were studied by some authors (see [1, 3, 4]). In this paper, we discuss the fuzzification of k -ideals (also r -ideals) of incline algebras. We prove the notion of fuzzy ideal and fuzzy k -ideal coincide, and we investigate some properties on fuzzy r -ideals.

2000 *Mathematics Subject Classification*: 16Y60, 16Y99, 08A72.

Key words and phrases: incline, (fuzzy) k -ideal, (fuzzy) r -ideal, level r -ideal.

Using an r -ideal, we establish a new r -ideal, and then we consider its fuzzification. Concerning homomorphism of inclines, we study the homomorphic image/preimage of fuzzy r -ideals. Using level subsets of a given fuzzy subset A of inclines, we construct the fuzzy r -ideal containing A .

2. Preliminaries

By an *incline* (*incline algebra*) we shall mean a set K endowed with two associative binary operations called addition and multiplication (denoted by “+” and “.”, respectively) satisfying the following conditions:

- addition is commutative and idempotent: $x + y = y + x$ and $x + x = x$ for all $x, y \in K$.
- multiplication distributes over addition from the right and left: $(x + y) \cdot z = x \cdot z + y \cdot z$ and $x \cdot (y + z) = x \cdot y + x \cdot z$ for $x, y, z \in K$.
- the incline property holds: $x + x \cdot y = x$ and $y + x \cdot y = y$ for all $x, y \in K$.

For the sake of convenience the multiplication “.” will be denoted by juxtaposition, and let $\mathcal{K} = (K, +, \cdot)$ denote an incline unless otherwise specified. Note that any incline is partially ordered by the relation $x \leq y$ if and only if $x + y = y$ for all $x, y \in K$. A *subincline* of \mathcal{K} is a nonempty subset M of K which is closed under addition and multiplication. A subincline M of \mathcal{K} is called an *ideal* of \mathcal{K} if whenever $x \in M$ and $y \leq x$ then $y \in M$. A subincline M of \mathcal{K} is called a *k-ideal* of \mathcal{K} if $x + y \in M$ and $y \in M$ implies $x \in M$. An element 0 in \mathcal{K} is called the *left* (resp. *right*) *zero element* if $x + 0 = x$ and $0x = 0$ (resp. $x0 = 0$) for all $x \in K$. An incline containing a left (or right) zero will be denoted by \mathcal{K}_0 . Obviously $0 \leq x$ for every $x \in K$, which means that 0 belongs to any ideal of \mathcal{K}_0 . Hence in \mathcal{K}_0 the intersection of ideals (*k*-ideals) is an ideal (*k*-ideal). The set-theoretic union of two ideals (subinclines) is not an ideal (subincline), in general. But there are inclines in which the union of any ideals is an ideal. As an example we can consider the incline $\mathcal{K}_0 = (I, +, \cdot)$, where $I = [0, 1]$, $x + y = \max\{x, y\}$ and $xy = \min\{x, y\}$.

A mapping $f : \mathcal{K} \rightarrow \mathcal{L}$ of inclines is called a *homomorphism* if $f(x + y) = f(x) + f(y)$ and $f(xy) = f(x)f(y)$ for all $x, y \in K$. Let f be a mapping from a set K to a set L and let A and B be fuzzy subsets of K and L , respectively. Then $f(A)$, the *image* of A under f , is a fuzzy subset of L defined by

$$f(A)(x) := \begin{cases} \sup_{x \in f^{-1}(y)} A(x), & \text{if } f^{-1}(y) \neq \emptyset, \forall y \in L \\ 0 & \text{otherwise.} \end{cases}$$

The *preimage* of B under f , denoted by $f^{-1}(B)$, is a fuzzy subset of K given by

$$f^{-1}(B)(x) = B(f(x)), \quad \forall x \in K.$$

3. Fuzzy ideals

Denote by I^K the set of all fuzzy subsets of K , that is, of maps from K into (I, \wedge, \vee) where $I = [0, 1]$, $x \wedge y = \min\{x, y\}$ and $x \vee y = \max\{x, y\}$ for every $x, y \in I$.

DEFINITION 3.1. A fuzzy subset $A \in I^K$ is called a *fuzzy subincline* of K if it satisfies

$$A(x + y) \wedge A(xy) \geq A(x) \wedge A(y), \quad \forall x, y \in K.$$

A fuzzy subincline $A \in I^K$ is called a *fuzzy ideal* of K if it is order reversing, that is, $A(x) \geq A(y)$ in I whenever $x \leq y$ in K .

LEMMA 3.2 (Theorem 3.4 in [3]). *A fuzzy subset $A \in I^K$ is a fuzzy subincline/ideal of K if and only if the level subset*

$$A_t := \{x \in K \mid A(x) \geq t\}, \quad t \in I$$

is a subincline/ideal of K when it is nonempty.

We first consider the fuzzification of k -ideals in incline algebras.

DEFINITION 3.3. A fuzzy subincline $A \in I^K$ is called a *fuzzy k -ideal* of K if it satisfies

$$A(x) \geq A(x + y) \wedge A(y), \quad \forall x, y \in K.$$

THEOREM 3.4. *Let $A \in I^K$ be a subincline of K . Then A is a fuzzy ideal of K if and only if A is a fuzzy k -ideal of K .*

Proof. Let A be a fuzzy ideal of K . Let $x, y \in K$ and $x + y = z$. Then

$$z = x + y = (x + x) + y = x + (x + y) = x + z,$$

and so $x \leq z$. Since A is a fuzzy ideal, it follows that $A(x) \geq A(z) = A(x + y)$ so that $A(x) \geq A(x + y) \wedge A(y)$. Conversely, assume that A is a fuzzy k -ideal of K and let $x, y \in K$ be such that $x \leq y$. Then $x + y = y$, and thus $A(x) \geq A(x + y) \wedge A(y) = A(y)$. Hence A is a fuzzy ideal of K . ■

LEMMA 3.5 (Proposition 2.1 in [1]). *Let \mathcal{M} be a subincline of K . Then \mathcal{M} is an ideal of K if and only if \mathcal{M} is a k -ideal of K .*

COROLLARY 3.6. *A fuzzy subset $A \in I^K$ is a fuzzy k -ideal of K if and only if the level subset*

$$A_t := \{x \in K \mid A(x) \geq t\}, \quad t \in I$$

is a k -ideal of K when it is nonempty.

Proof. It follows from Lemmas 3.2 and 3.5, and Theorem 3.4. ■

DEFINITION 3.7. An ideal M of \mathcal{K} is called a *left* (resp. *right*) *r-ideal* of \mathcal{K} if $KM \subseteq M$ (resp. $MK \subseteq M$), where $KM = \{xa \mid x \in K, a \in M\}$ and $MK = \{ax \mid a \in M, x \in K\}$.

DEFINITION 3.8. A fuzzy ideal A of \mathcal{K} is called a *fuzzy left* (resp. *right*) *r-ideal* of \mathcal{K} if it satisfies

$$(3.1) \quad A(xy) \geq A(y) \quad (\text{resp. } A(xy) \geq A(x)), \quad \forall x, y \in \mathcal{K}.$$

EXAMPLE 3.9. The ring $(Z_6, +, \cdot)$ has 4 ideals as follows:

$$\langle 0 \rangle, \langle 1 \rangle, \langle 2 \rangle, \langle 3 \rangle.$$

Define addition and multiplication on $\mathcal{K} := \{\langle 0 \rangle, \langle 1 \rangle, \langle 2 \rangle, \langle 3 \rangle\}$ as follows:

$$\begin{array}{c|cccc} + & \langle 0 \rangle & \langle 1 \rangle & \langle 2 \rangle & \langle 3 \rangle \\ \hline \langle 0 \rangle & \langle 0 \rangle & \langle 1 \rangle & \langle 2 \rangle & \langle 3 \rangle \\ \langle 1 \rangle & \langle 1 \rangle & \langle 1 \rangle & \langle 1 \rangle & \langle 1 \rangle \\ \langle 2 \rangle & \langle 2 \rangle & \langle 1 \rangle & \langle 2 \rangle & \langle 1 \rangle \\ \langle 3 \rangle & \langle 3 \rangle & \langle 1 \rangle & \langle 1 \rangle & \langle 3 \rangle \end{array} \quad \begin{array}{c|cccc} \cdot & \langle 0 \rangle & \langle 1 \rangle & \langle 2 \rangle & \langle 3 \rangle \\ \hline \langle 0 \rangle & \langle 0 \rangle & \langle 0 \rangle & \langle 0 \rangle & \langle 0 \rangle \\ \langle 1 \rangle & \langle 0 \rangle & \langle 1 \rangle & \langle 2 \rangle & \langle 3 \rangle \\ \langle 2 \rangle & \langle 0 \rangle & \langle 2 \rangle & \langle 2 \rangle & \langle 0 \rangle \\ \langle 3 \rangle & \langle 0 \rangle & \langle 3 \rangle & \langle 0 \rangle & \langle 3 \rangle \end{array}$$

Then $(\mathcal{K}, +, \cdot)$ is an incline algebra. Define a fuzzy subset $A \in I^{\mathcal{K}}$ by $A(\langle 0 \rangle) = A(\langle 2 \rangle) > A(\langle 1 \rangle) = A(\langle 3 \rangle)$. By routine calculations, we know that A is a fuzzy left/right *r-ideal* of \mathcal{K} .

THEOREM 3.10. A fuzzy subset $A \in I^{\mathcal{K}}$ is a fuzzy left (resp. right) *r-ideal* of \mathcal{K} if and only if the level subset

$$A_t := \{x \in \mathcal{K} \mid A(x) \geq t\}, \quad t \in I$$

is a left (resp. right) *r-ideal* of \mathcal{K} when it is nonempty.

We call A_t the *level left* (resp. *right*) *r-ideal* of \mathcal{K} with respect to A .

Proof. Assume that A is a fuzzy left *r-ideal* of \mathcal{K} . Then, by Lemma 3.2, A_t ($\neq \emptyset$) is an ideal of \mathcal{K} for all $t \in I$. Let $x \in \mathcal{K}$ and $a \in A_t$ for $t \in I$. It follows from (3.1) that $A(xa) \geq A(a) \geq t$ so that $xa \in A_t$. Hence A_t , $t \in I$, is a left *r-ideal* of \mathcal{K} . Conversely, suppose that A_t ($\neq \emptyset$) is a left *r-ideal* of \mathcal{K} for all $t \in I$. Then A is a fuzzy ideal of \mathcal{K} by Lemma 3.2. If there are $u, v \in \mathcal{K}$ such that $A(uv) < A(v)$, then $A(uv) < t_0 < A(v)$ by taking $t_0 := \frac{1}{2}(A(uv) + A(v))$. Hence $v \in A_{t_0}$, but $uv \notin A_{t_0}$, which contradicts that A_{t_0} is a left *r-ideal* of \mathcal{K} . Hence $A(xy) \geq A(y)$ for all $x, y \in \mathcal{K}$, and so A is a fuzzy left *r-ideal* of \mathcal{K} . The right case is induced similarly. ■

THEOREM 3.11. Let M be any left (resp. right) *r-ideal* of \mathcal{K} . Then there exists a fuzzy left (resp. right) *r-ideal* A of \mathcal{K} such that $A_t = M$ for some $t \in I$.

Proof. Let A be a fuzzy subset of \mathcal{K} defined by

$$A(x) := \begin{cases} t \in I \setminus \{0\} & \text{if } x \in M, \\ 0 & \text{otherwise.} \end{cases}$$

Obviously $A_t = M$. For a given $s \in I$, we have

$$A_s := \begin{cases} A_0 (= K) & \text{if } s = 0, \\ A_t (= M) & \text{if } 0 < s \leq t, \\ \emptyset & \text{if } t < s \leq 1, \end{cases}$$

and so A_s is a left (resp. right) r -ideal of \mathcal{K} . Using Theorem 3.10, we know that A is a fuzzy left (resp. right) r -ideal of \mathcal{K} . ■

THEOREM 3.12. *Assume that \mathcal{K} has the left zero element 0. For every subset M of \mathcal{K} , let $A \in I^{\mathcal{K}}$ be defined by*

$$A(x) := \begin{cases} s & \text{if } x \text{ satisfies } a(ax) = 0, \forall a \in M, \\ t & \text{otherwise,} \end{cases}$$

where $s > t$ in I . Then A is a fuzzy right r -ideal of \mathcal{K} .

Proof. Let $x, y \in K$. If both x and y satisfy $a(ax) = 0$ and $a(ay) = 0$ for all $a \in M$, then

$$a(a(x+y)) = a(ax+ay) = a(ax) + a(ay) = 0$$

and

$$a(a(xy)) = a((ax)y) = (a(ax))y = 0y = 0.$$

It follows that $A(x+y) \wedge A(xy) = s = A(x) \wedge A(y)$. If x (or y) does not satisfy the identity $a(ax) = 0$ (or $a(ay) = 0$), then clearly

$$A(x+y) \wedge A(xy) \geq t = A(x) \wedge A(y).$$

Hence A is a fuzzy subincline of \mathcal{K} . Let $x, y \in K$ be such that $x \leq y$. If y satisfies the identity $a(ay) = 0$ for all $a \in M$, then

$$\begin{aligned} 0 &= a(ay) = a(a(x+y)) = a(ax+ay) \\ &= a(ax) + a(ay) = a(ax) + 0 = a(ax). \end{aligned}$$

Hence $A(x) = A(y)$. If y does not satisfy the identity $a(ay) = 0$, then $A(y) = t \leq A(x)$. Hence A is a fuzzy ideal of \mathcal{K} . For any $x, y \in K$, if x satisfies the identity $a(ax) = 0$ for all $a \in M$, then

$$a(a(xy)) = a((ax)y) = a(ax)y = 0y = 0.$$

Hence $A(xy) = s = A(x)$. Otherwise, it is clear that $A(xy) \geq t = A(x)$. Therefore A is a fuzzy right r -ideal of \mathcal{K} . ■

THEOREM 3.13. *Let \mathcal{M} be an r -ideal, that is, both a left and a right r -ideal of \mathcal{K} . Then*

$$M^* = \{x \in K \mid x + a \in M \text{ for some } a \in M\}$$

is an r -ideal of \mathcal{K} .

Proof. Let $x, y \in M^*$. Then $x + a, y + b \in M$ for some $a, b \in M$. Now

$$(x + y) + (a + b) = x + a + y + b \in M,$$

$$(x + a)(y + b) = xy + xb + ay + ab \in M.$$

Hence $x + y, xy \in M^*$, that is, M^* is a subincline of \mathcal{K} . Let $x, y \in K$ be such that $x \in M^*$ and $y \leq x$. Then $x + a \in M$ for some $a \in M$ and $y + x = x$. It follows that $y + x + a \in M$ so that $y \in M^*$. Now let $u \in K$ and $x \in M^*$. Then $x + a \in M$ for some $a \in M$, and so $ux + ua = u(x + a) \in M$. Since $ua \in M$, it follows that $ux \in M^*$, that is, $KM^* \subseteq M^*$. Similarly, $M^*K \subseteq M^*$. Therefore M^* is an r -ideal of \mathcal{K} . ■

COROLLARY 3.14. *For an r -ideal \mathcal{M} of \mathcal{K} , the fuzzy subset $A \in I^{\mathcal{K}}$ defined by*

$$A(x) := \begin{cases} s & \text{if } x \text{ satisfies } x + a \in M \text{ for some } a \in M, \\ t & \text{otherwise} \end{cases}$$

for all $s, t \in I$ with $s > t$ is a fuzzy r -ideal of \mathcal{K} .

Proof. The proof is straightforward. ■

THEOREM 3.15. *Every homomorphic preimage of a fuzzy r -ideal is a fuzzy r -ideal.*

Proof. Let $f : \mathcal{K} \rightarrow \mathcal{L}$ be a homomorphism of inclines and let B be a fuzzy r -ideal of \mathcal{L} . For every $x, y \in K$, we have

$$\begin{aligned} f^{-1}(B)(x + y) \wedge f^{-1}(B)(xy) &= B(f(x + y)) \wedge B(f(xy)) \\ &= B(f(x) + f(y)) \wedge B(f(x)f(y)) \\ &\geq B(f(x)) \wedge B(f(y)) \\ &= f^{-1}(B)(x) \wedge f^{-1}(B)(y). \end{aligned}$$

Hence $f^{-1}(B)$ is a fuzzy subincline of \mathcal{K} . Let $x, y \in K$ be such that $x \leq y$. Then $x + y = y$, and so $f(y) = f(x + y) = f(x) + f(y)$, that is, $f(x) \leq f(y)$. Since B is a fuzzy ideal of \mathcal{L} , it follows that

$$f^{-1}(B)(x) = B(f(x)) \geq B(f(y)) = f^{-1}(B)(y).$$

Hence $f^{-1}(B)$ is order reversing. Finally, for any $x, y \in \mathcal{K}$ we get

$$f^{-1}(B)(xy) = B(f(xy)) = B(f(x)f(y)) \geq B(f(y)) = f^{-1}(B)(y).$$

Similarly, $f^{-1}(B)(xy) \geq f^{-1}(B)(x)$. Therefore $f^{-1}(B)$ is a fuzzy r -ideal of \mathcal{K} . ■

LEMMA 3.16. *Let $f : \mathcal{K} \rightarrow \mathcal{L}$ be a one-one and onto homomorphism of inclines. If M is a left (resp. right) r -ideal of \mathcal{K} , then $f(M)$ is a left (resp. right) r -ideal of \mathcal{L} .*

Proof. Let $x, y \in f(M)$. Then there exist $a, b \in M$ such that $f(a) = x$ and $f(b) = y$. It follows that

$$x+y = f(a)+f(b) = f(a+b) \in f(M) \text{ and } xy = f(a)f(b) = f(ab) \in f(M).$$

Hence $f(M)$ is a subincline of \mathcal{L} . Let $x, y \in L$ be such that $x \leq y$ and $y \in f(M)$. Then there exist $a \in K$ and $b \in M$ such that $f(a) = x$ and $f(b) = y$. Since $x \leq y$, it follows that

$$f(b) = y = x + y = f(a) + f(b) = f(a + b)$$

so that $a + b = b$, that is, $a \leq b$. Since $b \in M$, we have $a \in M$ and so $x = f(a) \in f(M)$. Thus $f(M)$ is an ideal of \mathcal{L} . Finally, let $x \in f(M)$ and $y \in L$. Then $f(u) = x$ for some $u \in M$, and $f(v) = y$ for some $v \in K$. Hence

$$xy = f(u)f(v) = f(uv) \in f(M) \text{ and } yx = f(v)f(u) = f(vu) \in f(M).$$

Therefore $f(M)$ is a left (resp. right) r -ideal of \mathcal{L} . ■

LEMMA 3.17. *Let f be a mapping from \mathcal{K} into \mathcal{L} . If A is a fuzzy subset of \mathcal{K} , then*

$$f(A)_t = \bigcap_{s \in [0, t)} f(A_{t-s}), \quad \forall t \in I_0 = I \setminus \{0\}.$$

Proof. Let $t \in I \setminus \{0\}$. For $y = f(x) \in L$, assume that $y \in f(A)_t$. Then

$$t \leq f(A)(y) = f(A)(f(x)) = \sup_{z \in f^{-1}(f(x))} A(z).$$

Hence for every $s \in [0, t)$, there exists $x_0 \in f^{-1}(y)$ such that $A(x_0) > t - s$, that is, $x_0 \in A_{t-s}$. Thus $y = f(x_0) \in f(A_{t-s})$, and therefore $y \in \bigcap_{s \in [0, t)} f(A_{t-s})$. Conversely, let $y \in \bigcap_{s \in [0, t)} f(A_{t-s})$. Then $y \in f(A_{t-s})$ for all $s \in [0, t)$, which implies that there exists $x_0 \in A_{t-s}$ such that $f(x_0) = y$. It follows that $A(x_0) \geq t - s$ and so $x_0 \in f^{-1}(y)$ so that

$$f(A)(y) = \sup_{z \in f^{-1}(y)} A(z) \geq \sup_{s \in [0, t)} \{t - s\} = t.$$

Hence $y \in f(A)_t$, and the proof is complete. ■

THEOREM 3.18. *Let $f : \mathcal{K} \rightarrow \mathcal{L}$ be a one-to-one and onto homomorphism of inclines. If A is a fuzzy left (resp. right) r -ideal of \mathcal{K} , then $f(A)$ is a fuzzy left (resp. right) r -ideal of \mathcal{L} .*

Proof. In view of Theorem 3.10, it is sufficient to show that $f(A)_t$ ($\neq \emptyset$) is a left (resp. right) r -ideal of \mathcal{L} for all $t \in I$. Note that $f(A)_0 = L$, and if $t \in I_0$ then $f(A)_t = \bigcap_{s \in [0, t]} f(A_{t-s})$ by Lemma 3.17. Since $f(A_{t-s})$ is a left (resp. right) r -ideal of \mathcal{L} by Lemma 3.16, it follows that $f(A)_t$ is a left (resp. right) r -ideal of \mathcal{L} . This completes the proof. ■

THEOREM 3.19. *Let A be a fuzzy subset of \mathcal{K} . Then a fuzzy subset A^* of \mathcal{K} defined by*

$$A^*(x) = \sup\{t \in I \mid x \in \langle A_t \rangle\}, \quad \forall x \in \mathcal{K}$$

is the least fuzzy r -ideal of \mathcal{K} that contains A , where $\langle A_t \rangle$ means the least r -ideal of \mathcal{K} containing A_t .

For any $s \in \text{Im}(A^*)$, let $s_n = s - \frac{1}{n}$ for any $n \in \mathbb{N}$. Let $x \in A_s^*$. Then $A^*(x) \geq s$, which implies that

$$\sup\{t \in I \mid x \in \langle A_t \rangle\} \geq s > s - \frac{1}{n} = s_n, \quad \forall n \in \mathbb{N}.$$

Hence there exists $q \in \{t \in I \mid x \in \langle A_t \rangle\}$ such that $q > s_n$. Thus $A_q \subseteq A_{s_n}$ and so $x \in \langle A_q \rangle \subseteq \langle A_{s_n} \rangle$ for all $n \in \mathbb{N}$. Consequently $x \in \bigcap_{n \in \mathbb{N}} \langle A_{s_n} \rangle$. On the other hand, if $x \in \bigcap_{n \in \mathbb{N}} \langle A_{s_n} \rangle$, then $s_n \in \{t \in I \mid x \in \langle A_t \rangle\}$ for any $n \in \mathbb{N}$. Therefore

$$s - \frac{1}{n} = s_n \leq \sup\{t \in I \mid x \in \langle A_t \rangle\} = A^*(x), \quad \forall n \in \mathbb{N}.$$

Since n is arbitrary, it follows that $s \leq A^*(x)$ so that $x \in A_s^*$. Hence $A_s^* = \bigcap_{n \in \mathbb{N}} \langle A_{s_n} \rangle$, which is an r -ideal of \mathcal{K} . Using Theorem 3.10, we know that A^* is a fuzzy r -ideal of \mathcal{K} . We now prove that A^* contains A . For any $x \in K$, let $s \in \{t \in I \mid x \in A_t\}$. Then $x \in A_s$ and so $x \in \langle A_s \rangle$. Thus $s \in \{t \in I \mid x \in \langle A_t \rangle\}$, which implies that

$$\{t \in I \mid x \in A_t\} \subseteq \{t \in I \mid x \in \langle A_t \rangle\}.$$

It follows that

$$A(x) = \sup\{t \in I \mid x \in A_t\} \leq \sup\{t \in I \mid x \in \langle A_t \rangle\} = A^*(x),$$

which shows that A^* contains A . Finally let B be a fuzzy r -ideal of \mathcal{K} containing A . Let $x \in K$. If $A^*(x) = 0$, then clearly $A^*(x) \leq B(x)$. Assume that $A^*(x) = s \neq 0$. Then $x \in A_s^* = \bigcap_{n \in \mathbb{N}} \langle A_{s_n} \rangle$, that is, $x \in \langle A_{s_n} \rangle$ for all $n \in \mathbb{N}$. It follows that

$$B(x) \geq A(x) \geq s_n = s - \frac{1}{n}, \quad \forall n \in \mathbb{N}$$

so that $B(x) \geq s = A^*(x)$ since n is arbitrary. This shows that $A^* \subseteq B$. The proof is complete. ■

4. Normal fuzzy ideals

DEFINITION 4.1. A fuzzy subset $A \in I^{\mathcal{K}}$ is called *normal* if there exists $x \in K$ such that $A(x) = 1$. The set of all normal fuzzy left r -ideals of \mathcal{K} is denoted by $\mathcal{N}(\mathcal{K})$.

If $A \in I^{\mathcal{K}_0}$ is a normal fuzzy ideal (left or right fuzzy r -ideal) then $A(0) = 1$, and hence $A \in I^{\mathcal{K}_0}$ is normal if and only if $A(0) = 1$.

PROPOSITION 4.2. Let $A \in I^{\mathcal{K}_0}$ be a fuzzy left (right) r -ideal. Then A^+ , where $A^+(x) = A(x) + 1 - A(0)$ for all $x \in K$, is a normal fuzzy left (right) r -ideal of \mathcal{K}_0 and $A \subseteq A^+$.

Proof. It is a simple verification of axioms. ■

COROLLARY 4.3. Let A and A^+ be as in Proposition 4.2. Then:

- a) $A^{++} = A^+$,
- b) $A^+(x) = 0$ implies $A(x) = 0$,
- c) A is normal if and only if $A^+ = A$.

The following two lemmas are obvious.

LEMMA 4.4. Let A be a fuzzy left r -ideal of \mathcal{K}_0 . Then

$$K_A = \{x \in K \mid A(x) = A(0)\}$$

is a left r -ideal of \mathcal{K}_0 .

LEMMA 4.5. If $A, B \in I^{\mathcal{K}_0}$ are fuzzy left r -ideals such that $A \subseteq B$ and $A(0) = B(0)$, then $K_A = K_B$.

Also it is not difficult to see that the following two propositions are true.

PROPOSITION 4.6. If for a fuzzy left r -ideal $A \in I^{\mathcal{K}_0}$ there exists a fuzzy left r -ideal $B \in I^{\mathcal{K}_0}$ such that $B^+ \subseteq A$, then A is normal.

PROPOSITION 4.7. Let $A \in I^{\mathcal{K}_0}$ be a fuzzy left r -ideal of \mathcal{K}_0 and let $f : [0, A(0)] \rightarrow I$ be an increasing function. Then $f \circ A$ is a fuzzy left r -ideal of \mathcal{K}_0 . Moreover, if $f(t) \geq t$ for all $t \in [0, A(0)]$, then $A \subseteq f \circ A$.

The above proposition gives a method of construction new fuzzy left r -ideals from old. Namely, if A is a fuzzy left r -ideal of \mathcal{K} , then A^t defined by $A^t(x) = (A(x))^t$, where $t \in (0, 1)$, is a new fuzzy left r -ideal of \mathcal{K} . Obviously $A^t \in \mathcal{N}(\mathcal{K}_0)$ for every $t \in (0, 1)$ and $A \in \mathcal{N}(\mathcal{K}_0)$.

PROPOSITION 4.8. A maximal element of $(\mathcal{N}(\mathcal{K}_0), \subseteq)$ is constant or takes only two values: 0 and 1.

Proof. Let $A \in \mathcal{N}(\mathcal{K}_0)$ be maximal and non-constant. Then $A(x_0) \neq 1$ for some $x_0 \in K$. We claim that $A(x_0) = 0$.

It is easy to see that a fuzzy set D defined by

$$D(x) = \frac{1}{2}(A(x) + A(x_0))$$

is a fuzzy left r -ideal of \mathcal{K}_0 . By Proposition 4.2

$$D^+(x) = D(x) + 1 - D(0)$$

is a normal fuzzy left r -ideal of \mathcal{K}_0 , i.e. $D^+ \in \mathcal{N}(\mathcal{K}_0)$. Moreover

$$D^+(x) = \frac{1}{2}(A(x) + A(x_0)) + 1 - \frac{1}{2}(A(0) + A(x_0)) = \frac{1}{2}(A(x) + 1)$$

for all $x \in K$. Thus $A \subseteq D^+$ and $D^+(x_0) \neq A(x_0)$ if $A(x_0) > 0$. So, A is not maximal in $\mathcal{N}(\mathcal{K}_0)$, which is a contradiction. Hence A takes only two values: 0 and 1. ■

Lemma 4.4 shows that a maximal element M of $\mathcal{N}(\mathcal{K}_0)$ is a characteristic function of some left r -ideal of \mathcal{K}_0 . Namely, if M is not constant then it is a characteristic function of K_M . In the other case it is a characteristic function of K .

Acknowledgements. The authors would like to thank the referees for their valuable suggestions. The second and third authors were supported by Korea Research Foundation Grant (KRF-2001-005-D00002).

References

- [1] S. S. Ahn, Y. B. Jun and H. S. Kim, *Ideals and quotients of incline algebras*, Comm. Korean Math. Soc. 16 (2001), 573–583.
- [2] Z. Q. Cao, K. H. Kim and F. W. Roush, *Incline Algebra and Applications*, John Wiley & Sons, New York, 1984.
- [3] Y. B. Jun, S. S. Ahn and H. S. Kim, *Fuzzy subinclines (ideals) of incline algebras*, Fuzzy Sets and Systems 123 (2001), 217–225.
- [4] K. H. Kim and F. W. Roush, *Inclines of algebraic structures*, Fuzzy Sets and Systems, 72 (1995), 189–196.
- [5] K. H. Kim, F. W. Roush and G. Markowsky, *Representation of inclines*, Algebra Colloq. 54 (1997), 461–470.

W. A. Dudek

INSTITUTE OF MATHEMATICS

TECHNICAL UNIVERSITY OF WROCŁAW

Wybrzeże Wyspiańskiego 27

50-370 WROCŁAW, POLAND

E-mail: dudek@im.pwr.wroc.pl

S. M. Hong and Y. B. Jun

DEPARTMENT OF MATHEMATICS (EDUCATION)

GYEONGSANG NATIONAL UNIVERSITY

CHINJU 660-701, KOREA

E-mail: smhong@nongae.gsnu.ac.kr

E-mail: ybjun@nongae.gsnu.ac.kr

Received June 17, 2002; revised version September 2, 2003.